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Summary of Law of Si_nes'and Law of Cosines

Given Method of Solving
ASA or AAS | 1. Find the remaining angle using A = 180°
» 2. Find the remaining sides using the Law of Sines
ASS (will 1. Find an angle using the Law of Sines
ALWAYS be a 2. Find the remaining angle using A = 180°
3

unique A -- no
ambiguous case)

. Find the remaining side using the Law of Sines

1. Find the remaining side using the Law of Cosines

SAS
: 2. Find the smaller of the two remaining angles using the Law
of Sines '
3. Find the remaining angle using A = 180°
SSS 1. Find the largest angle using the Law of Cosines

2. Find either of the remaining angles using the Law of Sines

3. Find-the final angle using A = 180°

Homework: p.150-154 #1-14 (omit 8f)

Chapter Review p.155-157 #1-11 (omit 9g)




